Answer on Question #73372, Chemistry / General Chemistry :

Determine molar conductivity given length 2cm surface area 2.5cm?, 0.001mol/dm3 of KCl at 25°C.
Conductivity meter deeped into solution reads 0.005 S*cm™.
Solution.

| =2cm

S =2.5cm?

C =0.001mol /1
x=0.005S-cm™

A=?

Molar conductivity is defined as the conducting power of all the ions produced

by dissolving one mole of an electrolyte in solution.
A=E
C
And:

K 0.005S -cm™ 05§ m

T C 0.00Lmolldm®  1molln®
A =0.55-m?/mol

Answer: A =0.55-m?/mol.
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